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Work out the area of the shape.
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(Total for Question 16 is 2 marks)
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23 A pattern is made using identical rectangular tiles.

<

11 cm.
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Find the total area of the pattern.

(Total for Question 23 is 4 marks)
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9 The diagram represents a rectangular garden of length 10m and width 8m.
The flower bed s a tiangle and the patio s a trapezium.
The rest of the garden s lawn.
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P S

Work out the area of the lawn.

m? (6]




image8.png
12 Here is a star shape.

‘The star shape is made from a regular hexagon and six congruent equilateral triangles.
‘The area of the star shape is 96 cm’.
‘Work out the area of the regular hexagon.

(Total for Question 12 is 2 marks)
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18 The diagram shows a trapezium ABCD and two identical semicircles.
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‘The centre of each semicircle is on DC.

‘Work out the area of the shaded region.
Give your answer correct to 3 significant figures.

De——Dem—> C

(Total for Question 18 is 4 marks)
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17 PQRS s a square.
Gis the midpoint of PQ and H i the midpoint of QR
Triangle GHS is shaded.

3 [ a

s R

Find the ratio ~shaded area : area of square  n its simplest form.
‘Show all your working.

Notto scale
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‘This shape is made from three congruent right-angled triangles.

Not to scale

4cm
8em

Find the total area of the shape.
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6 Jomakes a pendant from a rectangular piece of silver.

8cm Not to scale

— 5em —

(a) Work out the area of this rectangle.

e [1]

(b) To complete the pendant, Jo cuts two semicircles of radius 1cm from the rectangle, as
shown below.

8om Not to scale

I _/

-— 5om —

‘Show that the shaded area s 36.9cm? correct to three significant figures. [Z]




image13.png
(c) The silver Jo uses is 2mm thick.

Find the volume of silver in the pendant.
Give your answer in cm?.
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25

Not drawn
accurately
/u cm
——8em—
‘The radius of the circle is 10 cm
‘The diameter of the semicircle is 8 cm
How many times bigger is the unshaded area than the shaded area?
[4 marks]

Answer
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Arectangular carpet measures 8 m by 6 m
Part of the carpet is covered by a square rug of length 2 m

8m Not drawn
accurately

om

2m

Show that % of the carpet is covered by the rug.

[2 marks]
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ABCH s a square.

HCFG s a rectangle.
CDEFis a square.

They are joined to make an L-shape.
Not crawn
" @+ 3em B accurately
D
3em

B F £

‘Show that the total area of the L-shape, in om?,is % + 9x + 27

14 marks]
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A pattern is made from two similar rapeziums.
Notdrawn

Dy —

——— 10em ——>

Show that the shaded area is 204 cm?
14 marks)
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24 The diagram shows a floor in the shape of a trapezium.

10m

7m

Slitres

16m £1699

John is going to paint the floor.

Each Slitre tin of paint costs £16.99
1litre of paint covers an area of 2m’

John has £160 to spend on paint.

Has John got enough money to buy all the paint he needs?
You must show how you get your answer.
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(Total for Question 24 is 5 marks)
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24 Here is a rectangle.

‘The length of the rectangle is 7cm longer than the width of the rectangle.
4 of these rectangles are used to make this 8-sided shape.

‘The perimeter of the 8-sided shape is 70cm.
‘Work out the area of the 8-sided shape.

S -

(Total for Question 24 is 5 marks)





